DM EEAHRAKEEKERNEHER

1 AHRAKE
(1) ANOBRORECHET HRIFEEERE

== =5

EH s (BTN ED B
ARIYL mg/L |<0. 0003]<0. 0003]<0. 0003[<0. 0003 0.003LLF
2T e B BHENENC &
£ mg/L | <0.001| 0.001| <0.001| <0.001 0.01LF
Affiy 0L mg/L | <0.002| <0.002| <0.002| <0.002 0.02L0F
it mg/L | 0.001| 0.002| 0.001| 0.001 0.01LF
KR mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 0. 00054 F
7 L& ILKER me/L | e | e | k] o BHENEND &
PCB mg/L | B | AR | AR [ AR BHEhBWI &
sonoray mg/L | <0.002| <0.002| <0.002| <0.002 0.02LF
miEiE R mg/L |<0. 0002|<0. 0002|<0. 0002[<0. 0002 0.002LLF
1, 2—24ORIAY mg/L |<0. 0004|<0. 0004[<0. 0004 [<0. 0004 0. 0045, F
1, 1=Y4ARIFLY mg/L | <0.002| <0.002| <0.002| <0.002 0. 1T
YZX—1, 2=oy800IFL2| mg/L | <0.004| <0.004| <0.004| <0.004 0.04LF
1, 1, 1—rysaaITAEY | mg/L | <0.01| <0.01| <0.01| <0.01 1T
1, 1, 2—rysaRITAY | mg/L [<0.0006[<0.0006[<0. 0006[<0. 0006 0. 0061 F
kysooIFLY mg/L | <0.001| <0.001| <0.001| <0.001 0.03LLTF
FrSH/OOTIFLY mg/L | <0.001| <0.001| <0.001| <0.001 0.01LF
1, 3—vsmRFaxy mg/L |<0. 0002|<0. 0002|<0. 0002[<0. 0002 0.002LLF
FY5 L mg/L |<0. 0006/<0. 0006[<0. 0006 [<0. 0006 0. 00614 F
ROV, mg/L |<0. 0003/<0. 0003]<0. 0003[<0. 0003 0.003LLF
FARUALTD mg/L | <0.002| <0.002| <0.002| <0.002 0.02LF
RyHy mg/L | <0.001| <0.001| <0.001| <0.001 0.01LF
LY mg/L | <0.001| <0.001| <0.001| <0.001 0.01LF
HBMERRUEHBEESR mg/L 1.8 1.8 2.1 1.2 10LLF
ENE mg/L 0.14| 0.14] o0.14] o0.11 0.8UTF
F5% mg/L <0.1| <o.1f <o.1f <o0.1 1T
1, 4—SHxHy mg/L | <0.005| <0.005| <0.005| <0.005 0.05L0F




TS FEAFRAKEFKERNERER
(2) HEBREORLICHETIRBEEES
7

N ; BODy, | N-Hws | SSwa | T-Nogs | TP | T-ZNse D0y PN
S A 3 Hse X2 %3 x4 %5 6 x7 8
kmd  |RERRE|MEA| Pha o e/l | e/ | me/L) | /L) | me/l) | (me/L)  [CRPN/100mL)
68| 7.3 3.5 — 8 — — - 2.6 1,500
- 8A| 7.4 55 — 7 — — - 53 460
THH 11A] 7.6 45 — I — — - 4.7 1,400
28| 1.3 5.0 — 17 — — - 10 1,500
68| 7.4 2.6 = 3 = = = 1.7 2,500
e 8A| 1.6 6.0 = 9 = = = 58 5, 400
RRRFKE  EEHE 11A] 7.5 6.6 = 10 = = = 2.9 37,000
28| 1.3 8.3 = 12 = = = 57 10, 000
68| 1.6 3.8 — 3 — — - 4.6 2,100
8A| 1.6 3.3 — 4 — — - 3.7 1,000
S
R8E M 79 17 = = - - 6.2 430
28| 1.7 2.0 — 2 — — - 9.1 2,000
68| 1.6 3.5 <0.5 8 = = = 6.4 250
s 8A| 1.5 4.5 <0.5 15 = = = 52 600
l
241K F 1A 7.9 1.6 <0.5 4 = = = 9.0 310
28| 1.6 3.1 <0.5 11 = = = 11 110
4
gl 68| 1.5 4.9 <0.5 12 — — — 58 150
. 8A| 1.7 6.6 <0.5 51 — — — 6.5 70
|
4 #IkF 1A 7.9 1.9 <0.5 3 — — — 9.5 160
28| 1.9 1.9 <0.5 5 — — — 14 50
68| 1.6 3.9 = 7 = = 0. 006 4.8 2,000
8A| 1.8 3.3 = 8 = = 0. 004 2.9 2,600
il AR 1A 7.9 3.0 = 6 = = 0.007 54 1,500
28| 1.7 2.0 = 19 = = 0. 008 6.3 420
68| 1.3 2.4 — 6 — — — 51 500
o 8A| 1.6 11 — 22 — — — 8.4 1,500
bk B b
FREW AT 7 [ T8 = T = - — 9.6 120
i 28| 1.6 3.0 — 3 — — — 13 610
= 68 7.4 2.8 — 4 — — — 5.8 500
8A| 9.3 5.2 = 7 = = = 14 1,100
=
SR R ss [ 26 = | = - - K 250
28] 9.0 6.7 = 5 = = = 9.0 2,300
68| 1.3 3.3 — 14 — — — 59 2,000
- 8A| 9.4 7.8 — 29 — — — 16 30
Hia 118 8.9 1.8 — 3 — — — 15 20
- 28| 1.8 1.4 — 4 — — — 14 40
LEl 68 7.2 3.2 = 17 = = = 6.2 170
o 8A| 8.5 4.4 = 58 = = = 8.9 300
Bl 118 8.5 1.3 = 3 = = = 14 730
28| 1.5 1.8 = 7 = = = 12 180
68| 1.2 2.2 <0.5 5 — — — 73 370
- 8A| 7.4 2.9 <0.5 7 — — — 4.7 7,000
= 118 8.0 1.2 0.5 3 — — — 8.2 460
o 28| 7.1 4.3 <0.5 3 — — — 6.6 1,900
Ciatall 68| 7.4 37| — 9] — — - 7.5 180
8A| 9.6 12 = 21 = = = 18 80
& 11A] 8.0 1.3 = 2 = = = 12 210
28| 8.0 1.9 = 3 = = = 13 3, 800
68| 1.3 3.5 <0.5 5 — — — 55 470
. 8A| 1.7 9.6 <0.5 10 — — — 8.9 900
AR —T 76 27 0.5 5 — — - 9.1 4,300
28| 7.4 4.5 <0.5 7 — — — 6.6 3, 400
R 68| 1.6 4.4 <0.5 9 = = = 6.6 350
8A| 1.8 7.7 <0.5 12 = = = 58 700
RANIE 1Al 7.9 5.0 <0.5 9 = = = 9.3 1,200
28| 1.6 4.1 <0.5 4 = = = 9.1 240
68| 7.4 4.4 — 6 — — — 6.8 900
- 8A| 1.8 3.3 — 5 — — — 6.1 2,000
HRiE 118 7.7 1.6 — 4 — — — 6.8 1,000
28| 1.6 1.9 — 7 — — — 8.2 650
R 68| 1.5 3.5 = 4 = = = 59 1,200
~ 8A| 1.7 2.8 = 4 = = = 4.4 10, 000
REH 118 7.8 1.4 — 3 — — — 5.7 1,700
28| 1.6 1.6 = 4 = = = 7.3 510
BAE 9.6 12 <1 58 — — 0.008 18 37,000
B/ ME 7.1 1.2 = 1 = = 0. 004 1.7 20




DM EEAHRAKEEKERNEHER

14 i3
COD.:.g n—H.;.3 SS.:.4 T_N.:.5 T_P.:.G T_Zn.:.7 DO.:.g j{ﬂ%%ﬂ
kg |BEEAE|BEA| pHi a i & i i i i
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) (mg/L) (CFU/100mL)
6H 7.1 5.8 - 8 2.1 0.15 — 4.7 900
8H 1.2 19 - 40 1.9 0.32 — 14 200
sthim B O
1A 7.1 5.4 - 7 2.5 0.13 — 3.7 290
2H 1.2 5.9 - 6 2.8 0.15 — 8.4 50
6H 8.1 8.7 = 23 1.1 0.11 = 9.7 10
8H 8.9 19 = n 2.0 0.15 = 10 20
E/ 07 o
1A 1.1 15 = 26 1.3 0.12 = 9.7 60
2H 7.6 14 = 14 1.4 0.14 = 1 40
6H 1.1 14 - 33 3.5 0.29 — 1 90
8H 7.6 37 - 80 4.4 0.82 — 1 20
T&/A B0
1A 8.0 30 — 83 3.4 0.56 - 1 250
2H 9.3 27 - 56 2.6 0.37 - 22 50
6H 1.2 5.0 = 8 2.2 0.13 = 5.1 400
8H 1.2 10 = 15 1.9 0.19 = 2.1 8,000
RIFB B O
1A 7.6 6.8 = 13 3.2 0.21 = 9.4 1,100
2H 9.3 7.0 = 10 3.1 0.21 = 26 40
6H 10.7 58 - 65 2.4 0.18 - 16 10
8H 10.1 27 - 40 1.7 0.14 — 15 20
FXith B0
1A 9.1 1 - 18 1.3 0.10 - 13 10
2R 9.3 23 - 43 4.1 0.24 - 14 <1
RKAIE 10.7 58 = 83 4.4 0.82 0.00 26 8,000
=/IME 1.1 5.0 = 6 1.1 0.10 0.00 2.1 10
%1 pH - KEMVEE
%2 BOD -+ £¥MLEMBREREE
3 n-H - A HEEYME S
X4 SS - FEME=E
X5 T-N - RERSEHE
X6 T-P - BRYASEHE
%71 T-In--&BMKEFE
%8 DO - BAEMREFR=

%9 COD --- {LEMEBERERRE



